® Technical Summary

M PRO SERIES Enclosure
M U L TI B R A CK E T S QBlSR&QBl?)R—T

EAN:7350073738519

COMPONENT CHECKLIST

Item Name QTY
A TV box1

Connecting piece

TV box2

M6 flange nut

M4*6mm Screw

M4*12mm Screw

M5*12mm Screw

©16*¢96.2*1.5 washer

Coach Screw

S S < S S S S S ® S S\ 0
[CSENENES RN AN SRS ESENEN

S

S@

s
\\Q\@

— T |OMMmMOO|@

Plastic Anchor
Open wrench

(S O I OO [N I [N [ NGO [N TS T

N |«

A B C
|
D E F

PRODUCT DIMENSIONS

350
300

39

o0

a

o0

©

(o)

[e]

()=}

[«]

o0

[e]

o6

o

(o))

172
224
°

o e

(o]

ce

o

o0

o

oe

(v]

oe

o

o0

()

[SKe]




INSTALLATION INSTRUCTION

I
= [ N
el |
N b
Ef [,
gl |
NI
~ff
e 19
[ 2B
e S

Landscape

2-a.

@: (QB13R)+H
@: (QB13R-T)-H
Portrait

2-b.




